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.PART - A
- BOTANY

Maximum : 30 scores

317

Time : 1 Hour

1. The name 'Virus' that means fln¥ (B0CUB0 oM @RAMOO mmgm
venom Or polsonous ﬂuid_Was 9OUON” af)om ()?[.;Ocﬁﬁ).u rm@'_eémom_
given by .......... 901U @ s
a) Pasteur a) aldyvald

- b) Ivanowsky b) &agiemOTises)
¢c) Beyerinck | C) eenIRdlem
d) Stanley () | d) guocbel (1)

2. The reaction center of aO@Im  quaoiemales  (ald0w
photosystems in green plants a3 w216 Sy - 3aN0GS0
during light reaction 1s ....... . mlmomiea  (IUAEHM G (B
| AoBsau® STVBRA) DO ........

a) Xanthophyll ( . BO) |
- a) quoeamoadldd
b) Carotenoids D -
- | b) ®emoglemoialmy
- c). Chlorophyll b _ .c) e:0600a01@ b
d) Chlorophyll a @ | d) egoeooad@ a (1)
3, Write any two distinguishing c028WIeeOnoml AflEdNEmIMiang]S
features of the algal class O AORNSHRNOS oRO@HILILE O
Rhodophyceae. (2) | ovallereny UGOAUETBA af) RO, (2)
"OR ms:gg{lm - '
o - aeme_moaaommp CHO0GRION
Distinguish between mycorrhiza o - o
- - - ; O)Si»8l0 . @adlenss Qim0
-and coralloid roots. (2) | S ' S
- B Q)OO ? (2)
K-9198
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How can you differentiate active

transport from facilitated

. diffusion?

when  the

concentration of an essential

element 18 below the critical
concentration. Write any four

deficiency symptoms shown by

plants.

"Respiration is an amphibolic

| pathway."' Evaluate the

statement.

Fermentation 1s the incomplete
oxidation of pyruvic acid. Finds_
the difference bétween two
tvpes of 'ferment_ations 1n micro- --

organisms.

(2)

8. a) Identify the odd one from the |

given list of plant gi*-owth
regulators. |
) ABA i) NAA

iii) IAA iv) IBA

b) . List some physqi;:‘)foﬁg”'iCa:l
‘responses of gibberellins in
plants. (3)

K-919
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- The plants show' deficiency

(2)

2) |

(2) |

7.

8.
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T SIOS

| 4

(S0mMMeaiodg)o

sanmulefieggal’” allanyeumio @omld

WEEOM  A@OMO Slaleaymm;.

(2)
. By @g@&mﬂe@ @S (&]51e6 @
CHOMMME(SaUM) ®IOYWOWIH

TOAVYEMBUD @RI ]®®0 3003

HOMIHH0 0 6nE, qoavyemal 6 e

WRO®B:1ail0 Moe @Il ®m®O

ElHEMETBUD ag)P )b,

(2)

B0  @@oanleenios)sy

(LUB@DMDOEM™ v (laT®mOIUM

oﬂeimﬂmgmgcﬁa{ (2)

OB oYM (lemimo) agm e

LW e)leY|F:N BRI @I E:m0w

a) ®oay @mlalenim  qauy

BaOOBBDO6M Bl 8Qealg dlom

BHE)ENBOTY)) 5.

i) ABA i) NAA

H)IAA  iv) IBA

b) Do oglmise s (é_lc'ufbrommo
@0l0 qUMEBE]LIEMEO oM

(I :06MEBR agomoesnO@T

Do6)YENB(OTD) ).

(3)
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9. a) ', oomyeosalan  6neie:gla

9., a) Name the special type of leaf ,

- VR o

anatomy shown by C, plants. £oemim  quaflemey  @BIno

TP

| AQISM oQEDIEM ?
by lllustrate the major

-4

A

advantages of C, plants over b) C. ovoperes @oealeafie) C

UGB EMEE (IWOM CRTEMD

C, plants.

STle RN, (3)

106. a) Identify the substage of 10, a) swomiety &b  MSEeM
meiosis in which crossing OUMmEOMEWIHR  HalefiFo
OVer 1§ OCCurring. Solanelols

i} Leptotene 1) &eljerogid

11} &6TVRUMOSIT

1) Aygotene
111} aloaslglad

1v) Diplotene 1) e joglad

Al

_ _ b) eeslotls [M@é%@%{gjﬁfamé
b} Summarize the significance |
NS OB YOM el Ol e 631 G0
of meiosis 1n - sexually |
HUVMBoWEWIEM (I 2U0Mi0
reproducing organisims. - _
' QU106 1 (3)
K-919 4
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11. Observe

diagram.

b} Write

-
]

R B e T B e TR T i W R |
T, 7o - 1

{-‘..f::_.: TP e, t...-‘&:_a,

the

famaly.

-any four f

! ¥
P — -
A1 L
! -

given

floral

7 b

10T &

. 3 .a_i.'_fii. -

e 1dentiited

12. Ubserve the given diagram.

Analyze this

expiain t

diagram

and

he structure of plasma

membrane.

- K-919
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11. oo emidem 6eQood awio

@l oenss.

a) (MO EISINLBET) EIETBET .

b) ®emawle vy Syslmiains:
Q) B RLOS (o Q1 @ U0 o @ o (D

GO 3

1z, omidlesm ali@o Mdlesfieeid.

!
|
|
i
;

o fliwo @oalnidle] eaomnaimooieod
agism loidlesnds. (3
(S

w7 integral g

ar

. protein

g - Turn Over
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13. How does periderm develop in
dicot stem and replace the outer

broken cortical and epidermal

layers? _ - o (3)

OR

 In dicot stem, both intrafascicular
~and interfascicular cambium form
a ring of vascular cambium.

Explain the activity of this cambial

317

13, &my eocweenos Oy BT

Oal@leWo Maloalg m&oem@gg@_

a0l ag)nn___’lsmufbm’l_m“; BHhODZ N

Wilaiew aogiMmemamsenoa?  i(3)
aeog®imd
aflenf) e al(® dvﬂvgm']@@

&oan”mm?m%? EDM(SO adaVlBeeI0d
SHOMWo o OMRD a0 Ul6)8100

HSHOMI Qo o 1B 80) &M

- , _ (3) |
rng. o | | UBIWo Mal®aisimy. D sl
OM (aJUBBHMNO QNBR0H6) 6. - (3)
K-919 6
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PART - B
- ZOOLOGY
_ Time : 1 Hour
1. The characterist_ic features of an 1.

invertibrate is given.

.'-':T?he. phylum includes the comb
- jellies, also called walnuts. They
'are_. notea for their bio-

luminescence and comb plates.”

Identify the phylum; (1)

Fill in the

blanks

- appropriate word :

with

~ Osteichthyes :-Cyc].oid scales

Chondrichthyes : ............ |

From :the_'fo'll-owing list, pick out |

t_h'e- enzyme, that takes part in

carbohydrate digestion.

(Salivary amylase, peptidase.

hipase, carboxypeptidase)

K-919
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MogRlgoom aw) lalwes meoa

TOO@UH DB 108 MBITlH60m).

CUBMSN gy - aflglenam

Gdonizplm 9Bealsin eeanelo.

UG epalmlommMmy, ed:00en’

@%930930%- WGMIIOHmoMms  ena

KEUleneq s,

ARD OOanLlo BRSNS @7@1%01@5&. (1)

@BRMIERIILYMOQ IOBET OIGWIUTl o}
Allgi80100 @owo mgm’]g:[]&s)gcea.
ZlelogblPsNe) Ve

OO MW Mnd:eladms

806 (Slflesmymy

llllllllllllllllllllllll

(veyeicud] @@ eRIMmY, Oaldaiglesay,

- ellea|m’ &:00sen1005m] Oalaiglecnmd) (1)
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Unicellular

Eg. ....A

BeRRCsvuoyag

Endoerine gland B

ﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ

Kg. Pituitory g

Fill in the missing

words A 30l m Qdlgientom A, B
and B. (2) BSUISTRG CUOZIa ) (UDBE Salewousf
LB OTNWOLe) 0, (4}
3. Name the phyla in which the ®O6) Mo llofloflwlenym esome/
following cellg / structures / CRISM LU/ @i e aley
Organs are present. 6)6) 00 21 ETE)] @ eegoamagﬁsgmgmmm“
«
| E IO,
a) Radulg
L ! - a) ooauel
b) Cnidoblast | _
‘; L ” b) mleanoepjoms
¢} Prneumatic bone - _ _
\ _ ﬂ _-
| ~- - ! ©) QROIBROSeN8 @ooud]
d) Proboseig cgland {2) | |
d) elasoreniomims o] {2)
K-919 3
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' identify the enzyme noted as "A". (1)

Carcon dioxide transport in the

form of bicarbonate ion is
picturized below.

Observe the ~diagram and

Metabeolites  are
compounds constantly utilized

1 various metabolie activities 1n

n) Give an example for each

type of metabolites.

organic

A

e
",

L CF L T ITE JUT I, STy V] - L b v L

t 'E i R o M L T I S A e 2t T - ik B - P M healny AL L ST 0 e el T ) W Semrkiabey | 8 WL

OOEMIBODNUCENFIHRIOS ©at@D)]
cpas (O, 6@ qvotuanmo alfi®ojel
THI GO £H06mMofldlenim). all@oe
Midlesflal "A" agyomy avafiaflaficl
SOIM  EOMOWM]  o®Oe e

@@l Ol .

Tissue

it .
FI‘#I :1[!__.‘: -
o
- '..J,p‘. ::ﬁ.'!

8 owemgled lofiw eekal oo
(IOUBEDMERE@ O Sale@ous]
SO BOONOMIS (Vo ISMETRRIEM

T OAREENIOOBISHUD

a) eHoweRalaal [ JWOMEIQ|S

mm;@m ORROUIOEBAIE U

URODR]00 T

b) £0610 B0 HOREELOSORELIDBE

G060 HBOMEMO af)FAE s,
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- 817

8. Observe the diagram carefully 8.  almo vyavoaydaje Midledla] @moey
and answer the following 00} 0)BOIM  G2I0BYMB @B
questions. . BETHOODPIE]Lb. '

a) Label the parts marked as ] a) A, B, C, D ogom csmsua%s‘;m"l_
A, B, C, D. ' WIGEDN el BOLETRUD
: BOSWOBOQ SIS, .

p) ldentify the photoreceptor _ o |
' ’ b) amjem@onien ©nE (e

cells present 1n human eye.  (3) —
| 10a0l@e8 @llacis. - (3)
9. "A contracted muscle b;e-comes? 9. el %:__5-@0_0“1?@“—1@1 o -’-?JOJQ@&O :
shorter and thicker but its " eémcﬁgmomﬂ @ﬂmgmg ag)rmom%
volume remains the same." | . oo Qdaimo 0ogalgloem-

(DJ’L"] X .35
a) Which theory explains the QBT

process of muscle a) 20oMBAINIWIOS VB 2.
contraction? QM (oI Qﬂmeﬂm’@ﬁ’agm
- -laLomen® ?
b) Identify two contractile . S
' b) calvtlmaldd V@802
proteins seen 1n muscle. —  (2) / _ - -
- (ad (SO 0W] UMW S
oeaodnagdsgm P6NE MOOMVYETBOS
@1 @2, Ol 1. | (2) '
K-919 10




11.

During the adventurous trip a
plus:one student got a skull and
skeletal part of rare animal from

the Chinnar forest.

Select the suitable location for

keeping 1t from the list of

taxonomic aids given helow.

(Herbarium, Museum,

Zoological park, Botanical

garden)

The following diagram shows the

cnaracteristic features of a

phylum.

¢

317

10. moaomile wo@Weslas ao) qfay
e m?egofbm%éeg, 2lomo®
cmemled  mlom)  @0al3d Q) Wlmo

21O ®LIGWIS)o @omualda)o

2lEla)).

®OHY OISO O] H6) 0N
SO EMOEMDId afailen afllqylad
rlomio 00 MUl QUIQIBNOI0D
Al @EMIEWORINO®W  quALlo

ANCOINVISIETNE:

(£andGMUIOIWo, ARMIWo, TVEAI0REI-
AT aldDHS,  OEUIFOEM] 86D

(OB . (1)

11. & 06 a0l ela splfchele
MANEWAU®ER  @oemlemm alli@o

@06 ®MIEleEe M)

a) Identify the phylum.

'b) Mention four salient '

features of this phylum.

K-919

(2)

11

a) af® 66 aNRIMO MM

@@ 2Ol .

b) 09 eecncEmlORB oo

(JWOMmee(s  moal  aujeoq

mafleat@BD  quialafleiss. (2)
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12. "The functioning of human
gidney is efficiently monitored
and regulated by hormonal

of

piﬁ:‘uim?y,, JGA and to a certain

actions hypothalamus

extent by heart.”

a) Do you agree with thie

statement?

b) dustify your answer with

suitable reasons.

13. In human beings dentition is
‘heterodont’. This condition

ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ

presence of two types of

teeth.
presence of two sets of testh.

c) presence of different types of

teeth.

d) teeth are placed in sockets of

jaw.

K.919
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12. omjeuyedd QUIEOWIOS  (aCUBGD Mo
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L]

(afleganmmal) JGA, G2 Ll

(U aOJBRWODIOMRWI0 Gansizmred

[ IOUR@HMNODENT.

W'
L
\

a) Mm@ 0D (e mews

GOl LM EEN0 7

/' b) @006m qvadime (TETRE6S HEMMO

(TOOUN) o (T1e6) 16 | (2}

L3. amayymieeal NWRlan D eraoglens

GQLOENE @REN. T @roLun Tolessl

L2} 067 Mo e pase
.

v O] R8T 90V gl Haacs,

v € U@me @0 aigje DEGDY,

v & R A (D @Qs?am}%‘}@@
)7 B leiRa ). 1)
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14, Carefully observe the given 14. omldiesm mlueacwiad Haal
Sigmold curve on the graph and (oadldd (aELEWIeS MIdleMl o] ®moay
answer the following questions. 608 T 01NN BalORYEIB DA
SHETVEINLLB .
20 40 60 g0 160 120
artial pressure of Oy (mm Hg) —&
2) What does the graph E 8) (Noal af)mosm (al@IMIWoMmo
3
LV
indicates? E 6. 2IQRONE?
E
é 'b | L © .9
e N0all6 syl emoiiaD
b) What are the three factors E v ) B _
o * . S \lew auoulladlesmon aom
affecting the Sigmoid pattern ; CO®R ! ST BET
i .
~ z CRISHEBUWD aRe®mR00? 2
of the graph? (2) i AUGOOH (2)
- %
:
:
15. Enzymes are biocatalysts which 15, allaflw eegal 00 lRemmERes
regulate varicus biochemical . CQODENN OHRO  @)JQHETRROEM
d :
, : o
reactions. | OIMOW M HD. MOOY HHISIETI]
: B E .
_ | |
Illustrate the  following ’g BN @OV VAUV &, 6) OTD)
| | |
, e A
reactions. - QBMDOBE L.
s
. E+S—»ES——E+P (2

E+S—>ES >E -+ P (2)

1 Ty e iy rlier O der

—_—
W o= g

i--ﬁ.
BTy

Turn Over
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16. Hormonal abnormality is
responsible for certain diseases

In man. List of some diseases are
given below. Write the hormone

related to each of it.
» a) Diabetes mellitus
b) Gigantism

¢) Diabetes insipidus

d) Cretinism ' - (2)

OR

Like insulin and glucagon, PTH
and calcitonin are antagonistic
In thelir action in maintaining

normal blood calcium level.

Substantiate this statement. (2)

K-919
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@0 VOW IO EM ' rm?agm“lm 188
CaDOBEAVEMIBD aMauymMI@ ofle)
GOOUIETB WD BE) HOMEMDOE M.
@eElomwIas aflal GEOMaESS
elgy @oe% ewmosyamlges. ol
FHOVEMDOW  BaNOAREDOEM & KOS
CalORR)®)bs.

a) (adGla0o

b)) Aloomoamio

v O wwesnglm edmslalanms

Y d) ewglalmo ' (2)
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17. Longitudinal section of the

numan heart showing internal
structure 1s given below.
Observe the diagram and

answer the following questions.

a) Label the parts marked as A,
B,C.

b) :D-i:raw a ﬂow chart to show _

.doﬁblé circulation.
OR

"Sinoatrial Node is called pace

‘maker of our heart."
a) dJustify the statement.

b) Define cardiac cycle and

- cardiac output.

K-919
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DMty aGIBREBIONM @RODO “LISMm
SHOEMIBHIM HMSIHBHWIBR EabB0
WO6Y 6'}@:35&@@'](0%5@3(717&, afi{®o

o1 o)

O 05O 11 86))0M

C2IOB)ETBUIDHE) HAMOODLI® .

a) A, B, C agm’ cosieqisiomieial

DO BOWEBD @EVSV OGS
ame.

b) all aseym aAynuimn oe:,:::)sm’]oemgm

80} €0 2J0RS QAOWHE)H:.

MODES aOJBWOHOND Gl CGReHD”

QMY Qﬂ@cﬁﬁ)&ﬂ'ﬂg;

a) e (e OV ®OUME @

VOB 5.

b) ®odawlows &6 VB (D

HOOWIWOL 895allg agymlcy

NG 2 lesds.
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